SOLAR ROOF MOUNTING SYS
INSTALLATION MANUAL

MODEL NAMEI-ROOF HOOK

JIANGYIN TITANERGY CO.,LTD



Phone:0086-510-866

\’ i
TIT““Q(OBI’ n i Fax:0086-510-8661

n il=y L1 .
Web:www.titanergy

JIANGYIN TITANERGY CO.,LTD. Mail:info@titanerg
Model Ngmd-ROOF HOOK !

Contents
Chapter Title Page
1 Generlanformation 3
2 Safety and Installer Responsibilities 4
3 Techni&aplecifications 5
4 Toolfor Installation 6
5 Componebescription 7
6 System Overview 9
7 DesignilmpgeModu e eld 11
8 Planning 12
9 Installation 15
10 Warranty 21
11 Revision History 22

Published Date 2015-10-20 2 /IRe2xision Number:01



\\ |,
TITANSS(OAR

JIANGYIN TITANERGY CO.,LTD.

Phone:0086-510-866
Fax:0086-510-8661
Web:www.titanergy

Mail:info@titanerg

Model NgmMid-ROOF HOOK

1. General information

Thank yfou chooshregTitan solar roofsysdemamgrom cus-toumbtluminum extrusions
anccomponegniistan Selimmovated demsdgimprovathetrenggheatly sinpligganel
installafibeasy instalfatisgeps maked-Modules bamuinto th&d& |l on any position
guicklgotheD-Modules iapsembly twhicHamtosavgour install time

-iThi | t Align Up Fasten

Easy instalfatimsteps

Titan sslaersatile deakegmssititaldloer a wvaeiedjbuildiypeasndzones including
residenti@almmeraimadtemoeenvironments

Titansoilsasbackeyh 10yeawarranfyire Rated:A)

Published Date 2015-10-20 3 /Revision Number:01



N | Phone:0086-510-866
Tl?ﬂﬂ_\-ﬁ)}lﬁk Fax:0086-510-8661

i Web:www.titanergy
JIANGYIN TITANERGY CO.,LTD. f Mail:info@titanerg
Model Ngmd-ROOF HOOK :

2. Safety and Installer Responsibilities

21Handlimgmdnstallihigan solar

Itis critically immpasadepyracticesohservetdennstalling

; Do nihtrowr roughandkeny Titan solar components

; Do nbtinfitan solar systeomtawtidsharpr heawlyjects

; Do nmiodify Titancemlponentsnynwalyhexchangf bo,lts
drilliofy holdendimganyther physictariges not desmribed
standamndstallapirorcedwiddoid the warranty

; It isheinstalleesponsibility tidheetréfyrity of the saructure

Caution . _ _ _ ,

whichHlritan solar componentsRo®fgixerd structures with

Installatitdmsof rottémustelearensndersibedrersxcessivedgced bearers

produistto be or anytheunsuitablebstructuaendteused with Titan solar

performedpy componemntrsdinstallabioswchstructures withewsidranty

professionally ancould result imrdenitthirsjury

trainemdstallers

Anwntte mipyan

22WinandClimate Design

Determining the wind pressures applies wyostgowurinBittalh sol
site, taking into account roof shape and.g8offiapent loc
guidance is given in this document, but yoa anaypwish to
of these standards.

unqualipierds on
toinstall this
producduld
resuiltd e a tdr
serioimngu.ry

REMEMBRBRerageindspeeds are hfighertructures mounted
closer torblod perimeteredge®efer 'to FixingRwathin
InstallaZiomdomoréenformalion

; Maksureyoulnstallattomplies withahacalational building
codesTakeinto account relevant design pasameders (wi
exposuaaed topogrdpbtpwhen determtimélocadirfgrhe
installation

If alternfdaswenersuseaofixheframingtheroof (assuming
supplied fastenmeensuitalbée any re)aabsicrewasteners
must be of equal or greater strength to those supp
Titan solar system order.

Published Date 2015-10-20 4 |Revision Number:01



N | Phone:0086-510-866
TITﬂﬂ-\-(OXEﬁR Fax:0086-510-8661

i Web:www.titanergy

Model NgmMid-ROOF HOOK

3. Technical Specifications

31Applications

; Commeraimdesidential buildings
; Marim@plicationseandegreas

32Features
; 600B5Aluminum extrusion

Caution : InnovatedignetltheMdduleshichan be passembiith
Refeo the thelampmaktehdnstallacimamndyuick
sectioDesigning SuitkalfzdmdifferenoaditionsthaemcbsstoIapanelasipresent

marke
Your System © Significantly higheaowe¢ighgtithaother frampinducts
befordtempting providimgprovefdiciencytaueater frapaebnherent

corrosir@rsistamesultimigpw ongomagntenaaceén
extendpdoduldfe

; Anodized finish

installaFiminure
tocorrectly
establtilsd
requiremetrte of
proposed

installation site iSS.SMateriaI
dangerousvidhd Material Tensiserength
void titreming Ultimate Yield
warranty 600 5AIluminum 260MPa 240Mpa
Extruded
Stainless So0del 635MPa 235MPja
Stainless Ap&Ol 700MPa 450Mpa
34.Installation condition
Roof slope jdto6 @
Buildihgight tWwpOm
Mountisfgucture Timber
Roof types OFlpittcs¢elalnd tile
System angle F | u sttheato evfit h

Notaf the condsoiwer the tappéeascaontacs toonfirm

Published Date 2015-10-20 5 /|Revision Number:01



N | Phone:0086-510-866
Tl?ﬂﬂ_\-ﬁ)}lﬁk Fax:0086-510-8661

i Web:www.titanergy

Model NgmMid-ROOF HOOK

4. Tools for Installation

Thdollowitmgls are refladiha&hstallation
Gnm Alllea@ay or hexadpirvabdli.t
If usia@mm driver bitsuméhkeordless
powetbolsed for the Haisvriadghdnght
clutctetting a finem(sadrivioprevent

damagethafragidéass panelshamalds pn
theStructure
Cordldsill

Driblr impacivéodrivimgof matdéintaigs

; Angdeinder
Foterracatieoof installatdomglgrinder
fittewithhcontinuous cidagreonipped
tileOcutting; dllavdedse aripgotectieomacle
protectmaslkandsuitablytelreathing
protectimansk faolbeopliaproximafy
grinding

; Gloves
Protetdichazamd the skarmers

; Cord or pehor
Mark the instapldatipan —

; Spilrewvel

; Rule

A
-

; If necessiampeéoshim the roof hooks|

Published Date 2015-10-20 6 /| Revision Number:01



\l f Phone:0086-510-866
TI|"||-(u3|ﬁ.‘ Fax:0086-510-8661

i Web:www.titanergy

Model NgmMid-ROOF HOOK

5. Components Description

TT- Rail

; holelach pamnoew

; lengthrbe customized
; 6005B5extrudaldiminum

StandaRdillength
808826mm wpdee|s9961020mm wide p
2560mm (3 panlels)

3405mm (4 panlels) 4200mm (4

; The length of TT-Rail can be customized.(1.05m1 i
; The installation direction of panels camobeakcwstopriiedl)ho

TTRaiSplickit
; Extend TTtBarly lengshrequibrgtde I.:
quantity orofithsolaranels . -ﬁj

Include 2pcs M8*20 bolts,2pcs MB spring washers,
2pcs M8,0D18 lock washers ==

Inter Clamp Kit for Framed Modules

; Fibetweewmanels Type __ Bolt
;  Fastenedabimim Allen key :”:ef C:amp t': Xg:z
; Standg@rdassemblytharsuglaneisith I:t::;::s k:tms*ss

thickness 30, 35, 4907mib, 50 o InTer clamp Wit 308760

; Include 1pc M8 bolt,1pc M8 spring washer,1pc nut

EndClamKitftorFrrameMdodules

; Hold the efilgaach padels
; Fastened abimm Allen key
; Standpradassemblytfarsuglanels with ﬁ
thickness 30, 35, 497mr6, 50
; Include 1pc M8*25 bolt,1pc M8 sprihg wash':_'r.,:l'pc nut

AdjustalHedClamKit rd,-'

;' Hold the efi@ach padels ..._"-‘j

;' Fastenedasimm Allen key {'.1{

: Adjustabletipanebsithhickness from i_L,;
-

2560mm ﬂ:-:kf

; Include 1pc M8*25 bolt,1pc M8 sprihg was¥er1pc nut

Grounding Lug Eﬁ:
; Fix the wire )
; Material:Cu

Ll
; Include 1pc M8*25 bolt,1pc M8 sp|ring waﬁher,
l1pc M8,0D18 lock washer,1pc nut,lpcM'6*15 bolt

Grounding Clip Sty
; Electric Conduction =
: Material:Stainless steel =

1

=

Rubber Pad
;i Wearing Pads
; Change in time

Published Date 2015-10-20 7 /IRevision Number:01



\\ |,
TITANSS(OAR

JIANGYIN TITANERGY CO.,LTD.
Model NgmMid-ROOF HOOK

Phone:0086-510-866
Fax:0086-510-8661
Web:www.titanergy
Mail:info@titanerg

Variety of Rook

StainleSseeRooHook 1 #
; Fikxotheaafter béRomatile roof
; Incluglpcs st6.3wbBA0dcrews

: Include 1pc M8*25 bolt,1pc M8 spring W'—-
l1pc M8,0D18 lock washer,1pc nut

StainleSseeRooHook 2 #

; Fixotheaafter bdlatw tite f

; Incluglpcs st6.3wB0dcrews

: Include 1pc M8*25 bolt,1pc M8 spr
l1pc M8,0D18 lock washer,1pc nut

ing was#fier,

StainleSseel Roof Botok
; Sidfdx to theter beélowmatile roof
; IncluBlpcs 6 oodcrews

; Include 1pc M8*25 bolt,1pc M8 spi
l1pc M8,0D18 lock washer,1pc nut

-
ing vggher,
2

StainleSseeRooHook#4
; Fix torthfder on slate tile roof
; Incluglpcs st6.3wbAddcrews

; Include 1pc M8*25 bolt,1pc M8 spr
l1pc M8,0D18 lock washer,1pc nut

ing washel,

AluminumnRooHook#5
; Fixotheurlintomoof
; 1pc st6.3*80 wood screw and 1lpc

; Include 1pc M8*25 bolt,1pc M8 sp
l1pc M8,0D18 lock washer,1pc nut

o I
rubk ﬁtd /‘

ring washery

StainleSseeRooHook 6#
; Fikotheaafter béRowmatile roof

; With pad

: IncluBlpcs st6.3wbBddcrews -

: Include 1pc M8*25 bolt,1pc M8 spring WE"‘*
lpc M8,0D18 lock washer,1pc nut

Variety of Screws

Wood Screw P

Socket Head Screw

Published Date 2015-10-20

8 /Revision Number:01



Phone:0086-510-866
Fax:0086-510-8661

Web:www.titaner gy
Mail:info@titanerg

6. System overview

Allcomponents of the shistemkelavEherersiamdjuantitoésthe parts cae panyinfg

; Typef roof ; Typefmodule
; Numbef modules ; Sitepecifics

S S,

$ TT Rail $a TTRai$pliq@ptional
$b Inter Clamp $c End Clamp
$d Roof hook

Published Date 2015-10-20 9 /| Revision Number :01



N/
ITOANNE/ |’ )
oY 1
11K ll-'(Uulﬁ N
JIANGYIN TITANERGY CO.,LTD.
Model Ngmd-ROOF HOOK

Phone:0086-510-866
Fax:0086-510-8661

Web:www.titanergy
Mail:info@titanerg

Show Details

S

$d

p— S e
i, S
=——u
S

e
== -l

Til&Roof ThRoof

End Clamp End Clamp
Bolts and\l}_l,utsModuIe Bolts and MNuts Module

i . \<_._
Bolt d "N tTTRaII . '
olts an u STiléaoolif-look Bolts and"'-‘fi\*llt-lé-rRaII

Wood Screw M6.3)

Tin Roof H

/t Rubber

<60\Woo0d Screw M6.3x80

A )

b
v

. ‘
L IR RN

Published Date 2015-10-20

00|

10 / 2Revision Number:01



N\

Phone:0086-510-866

TI|"||-(u3|ﬁ.‘ Fax:0086-510-8661

Web:www.titanergy

JIANGYIN TITANERGY CO.,LTD. Mail:info@titanerg

Model NgmMid-ROOF HOOK

7. Designing the module field

Belowhedistanclestweenof connectianp dfrariaigtallatimespecifi€llamopnroof hooks
need toibhetalliasipecific distdepenadiomhe distaomfceafters and the stoical conditions

- = -

¥ ]
a -
Heighftthneodufeetdnoduheightnumber of moedutlieally
Widolh thheodufeetdhumbef moduhesizontal(widththe modL8e mm32mm
Distabeeween roof connections vertitoalthye (alccnpmiigg -dedindgthenodule
produgeQuarieoints of the moldallézof modhleight
[4 Distabe¢ween roof connections hepezodomyHglistantcetweeafters andthe
static requirdplente $kehapt&onpagéld).
Distabeeween modudem

WheposmontlmemoduI,epsiease telkk@onsideration
; Thaheralues abanee

; Thatimensiofstiles or other roandbeepobsgoifohhe raftitefistbe precistual
horizontal dibeaweeoof connections

; Thahaistanbetweeaof laths deffgnesscise awvturdiacdkdbtancetweeoof
connections

Published Date 2015-10-20 11 Reygision Number:01



N | Phone:0086-510-866
TITﬂﬂ-\-(OXEﬁR Fax:0086-510-8661

i Web:www.titanergy

Model NmMid-ROOF HOOK

8. Planning

8lDeterminteewindegiomfyour installatiten

Regidhn ARd41msec

Region|B 41ms¥ecBd48msec
Region|C 48msecCd56msec
Region| D 56msecDd66msec

82.Determinlecheighaftheofyour installatit@n

Thidocument proswififféesieMformafiomn Titan solar systemhiengtetldatiban 20
meterslf yourstallation siteha@fometers in,pedgltontadtitan solar to obtain
engineerdagao supportigeuallation

83DetermiReofnstallation Roof Areas

Titamolar system crasitadlderdywheaearoof but fixing aceareteusreabe reduaed
ridgeendcdgeFhaiagram bshowtheareaf higher wind loadingsawdidBo0 .a&2A
roof edgielg@herd anBardhelanned dimeafstae building

Cent&mone Edg&one

ThdollowitadlwilHelp ydetermimemaximum rail ssuppgrd figyour praoject
Alsoote thfathe roofisldpes thGregredeaeductionspacinges not apply

Published Date 2015-10-20 12/ Revision Number:01



N | Phone:0086-510-866
Tl?ﬂﬂ_\-ﬁ)}lﬁk Fax:0086-510-8661

i Web:www.titanergy
JIANGYIN TITANERGY CO.,LTD. f Mail:info@titanerg

Model NgmMid-ROOF HOOK

84 DeterminreeMaximumail Supp®pacing
a. Pleassesedhe followdhbodetermime TRail suppspacing foooifnietallations.

For Up To 1600mm Long Panel (2 Rails)

Max. Support Spacing (mm)

Installation Region A Region B Region C Region D

Height(m) Center Edge | Center Edge Center Edge | Center | Edge

5 Meters 2400 1740 1710 1200 1070 755 660 465

10 Meters 2050 1445 970 1000 965 680 595 420

For Up To 1960mm Long Panel (2 Rails)

Max. Support Spacing (mm)

Installation Region A Region B Region C Region D
Height(m) Center Edge Center Edge Center Edge | Center | Edge
5 Meters 1980 1390 1360 965 855 680 520 370
10 Meters 1630 1150 1130 800 775 545 475 335

¢ Min.50mm embedment to existing timber rafters.

b. Pleasesahe followmsibigpodetermimebaseail supppatcifgTimoof installations

For Up To 1600mm Long Panel (2 Rails)

Max. Support Spacing (mm)

Installation Region A Region B Region C Region D

Height(m) Center Edge Center Edge Center Edge Center | Edge

5 Meters 1600 1220 1150 845 720 530 450 325

10 Meters 1350 1010 950 700 650 475 400 290

For Up To 1960mm Long Panel (2 Rails)

Max. Support Spacing (mm)

Installation Region A Region B Region C Region D

Height(m) Center Edge | Center | Edge Center Edge | Center | Edge

5 Meters 1350 975 940 675 600 420 350 260

10 Meters 1100 810 780 560 530 380 330 235

e Min. 35mm embedment to existing timber batten.
e Min. steel batten/ purlin thickness=0.6mm.

Published Date 2015-10-20 13 / Revision Number:01



\\ If ! Phone:0086-510-866
TITANSO)NAR |

Fax:0086-510-8661
Web:www.titanergy

Mail:info@titanerg

JIANGYIN TITANERGY CO.,LTD.
Model NgmMid-ROOF HOOK

85VerifgycceptaliRleil E®@drerhang

RaiEnd Overhang must pencelnd ®rolfe §espacinighudf fospacingl200mrhe

RaiEndvehangarbe up to 600mhms catedeed¢arsuppoataidof as mash2400mm
(1200mm betweedmet a®@0mm of overhangeajl.each

86Determine FBdope

Titan solar

system can be usedpfdo 680 s¢dpleaswerify thetallasio@oof
slopghoubkbetwe®mnegreasnd 60 degrees

Published Date 2015-10-20 14 /| Revision Number:01



\\\/l, ; Phone:0086-510-866
Tl?ﬁﬁ_ﬂﬁlﬁk | Fax:0086-510-8661

i Web:www.titanergy
JIANGYIN TITANERGY CO.,LTD. ; Mail:info@titanerg

Model NgmMid-ROOF HOOK

9 . Installation

Install on Romamo®fle
1. Removeaoof tiles at the
positicorssimplyhefm up slic

2. Input the roof howd&otde hh
beanFix the roof hooks w
wood scréwwe.3xp60

; Tighten the screws in th
when the roof undamag

3. Cover the hottkes feymoved

4, Theoof hook matstess agal
theoof tHEacid@flatf necess
shim the roof hook .with w .

Co

5. If necesssry aanglgrinder

~

hammeocubconcaviityhdile
thacovers thef hook at th
wherehaoof hook cohmmesgh
(CautioMusnousdixemdoof hg
as a ladderthis extreme pjc

)

couldamagéadilbelow

Published Date 2015-10-20 15 / Revision Number:01



\\ |,
TITANSS(OAR

JIANGYIN TITANERGY CO.,LTD.
Model NgmMid-ROOF HOOK

Phone:0086-510-866
Fax:0086-510-8661
Web:www.titanergy
Mail:info@titanerg

Instadh PlaTnld&koof

6. Mark roof hook insaantat
andcutecesses for hooks
tildslate at émstallapiomimt

AWARNING

To e risk of Ny, Ssimes
cmin when cpenirg He cuting
Bl Wl Foll oo 00N PR RO S
el rmirochorn. Faiurs B il
o PO B S DN A O0aik]
(L TLRNER D L R L
e bt

7. Cutitanium zincshmedtd tQ
andnstahlem underothfe
hook&ixheoof hooks to t
rafter using.8wdmm woo(
screws

-

Instadh TiRoof

8. Mark roof hook insaankat
and uskegowednol doithe
woodcrethhrouglheoino
fasteahd feewithheurlin

; Tighten the screws in

? wnnd sevEr (M6.3%80)

T L.
ki

the situaltiof=t

=

when the roof undama

jed. —!

T Ezer Pail

Published Date 2015-10-20

16 /Rexision Number:01



\\\/l, ; Phone:0086-510-866
Tl?ﬁﬁ_ﬂﬁlﬁk | Fax:0086-510-8661

i Web:www.titanergy
JIANGYIN TITANERGY CO.,LTD. f Mail:info@titanerg
Model Ngmd-ROOF HOOK '

InstaThel T-Raiil

9. DModule quick.mount .
Fousteps to quicktimeount y ? v
D-Module imE&Rail channe] / ? _
Moveéhessembly to : '
it's desfreglositiamd

fastens firmly bry gbagee|b
tolONm

10 Connegbtt roof hook With|°
Rail
a. Insert tiveodule into t
sidehannefl thleTRaids
theste@shown
b. Adjuthtel TRaitlobelevel
c. Fastéméolt

Torsi@B-25m

Published Date 2015-10-20 17 /Rexision Number:01



\\\4', ; Phone:0086-510-866
Tl?ﬁﬁ_ﬂﬁlﬁk | Fax:0086-510-8661

Web:www.titanergy

JIANGYIN TITANERGY CO.,LTD. Mail:info@titanerg

Model NmMid-ROOF HOOK

11 TT Rabdnnect
a.PuthelTRai$plidatohe
sidehannefl thleTRail abou
75mnthefhasteghevM8Bolt
b.PutheothelrTRaiilntobhe
other sodethleTRai$plice a
fasteheotheM8bolt
;7 Torsi@l-25ml

Install the module

12 Instalbngliprotection
Theantliprotecti®smnly
necessaryhadowermogwof
modulestfirsfitwdolts N6
ancuts inhaowerolesf
eacmodulEheplacehdirst
modubg the bottom row s
theantsliprotectsots time ai
channefil tHewesow of rai
; Torsi@B®-25mMl

13 Fiximnlgeouter modibyeEnd
clamp
a. Puthendclamlpiintohe
tophannefl thieT-Rail a
thestep.
b. Pustheidef module t
firmhgaintdteendclamp

andhen fastttedholt
;. Torsi@r’-25m

Published Date 2015-10-20 18 Rewision Number:01



N | Phone:0086-510-866
TITﬂﬂ-\-(OXEﬁR Fax:0086-510-8661

Web:www.titanergy

JIANGYIN TITANERGY CO.,LTD. Mail:info@titanerg

Model NgmMid-ROOF HOOK

14 Fiximnlgeéntemodulbyinter
clamp

a. Putthdnter cl&miptohe
topghannefl thleT-Rail a
thestep.

b. Pusthdntemodukdamp
firmbhgaintdte alrefidg(
modu.le

c. Pusthemexmodubegains
theother sodethe
modudi@ater clamp

d Tightemedolt

; Torsi@m-25mMl

15 Instalkimdburther rofws
modules

Published Date 2015-10-20 19 Revision Number:01



\\\/l, ; Phone:0086-510-866
Tl?ﬁﬁ_ﬂﬁlﬁk | Fax:0086-510-8661

i Web:www.titanergy
JIANGYIN TITANERGY CO.,LTD. ; Mail:info@titanerg

Model NgmMid-ROOF HOOK

CableieandGrounding
16 Tieablwithheail
a. Tie tbeblwithheaaidsingd

the zip tie

17 Grounding
Please see the Titan Solar Grounding

System Installation Guide.

Published Date 2015-10-20 20 Rewision Number:01



N | Phone:0086-510-866
Tl?ﬂﬁ_\-ﬁ)}lﬁk Fax:0086-510-8661

i Web:www.titanergy

Model NgmMid-ROOF HOOK

10 . Warranty
1. To be used only in combination with modules that include this specific rac
FireyRAated

The minimum distance between module and roof is 8.5cm.
2.This racking system may be used to groduole acodiptyimagumtith RV m703 only
specific module has been evaluated for grounding and/or mounting in compli

Jiangyin Titanergy Co., Ltd. warrants that its Titan Solar Panel Mounting Sy
workmanship for a period of 10 years from the date on which the Frame is pl
set out in this warranty.

In the event that the Frame does not courfiognthe WasraatyaRéeyidod, Titan S
at its option, either repair or replacestthefFlrawmi@ g it hpea ¥ rtdhmecoepaired or
To the extent permitted by law, TitanuSdler'thitotaarliamtyitwill in no circ
exceed the repair or replacement of the eFcame ofr pawimg nhe fFrlame rep:
replaced. In the event of replacement afintdyepdntamfe theen W ae nmeanity Period
transferred to the replacement Frame.

This warranty will not apply to any defect or damlygertontheeEtbymfe camising
1.Shipment or storage of the Frame;

2.Ilmproper installation, maintenance, repair or use of the Frame;

3. Normal wear and tear;

4. Misuse, neglect, abuse, accidental damagepr modification to the Fra
5. Failure to observe the instructions set out in the System Manual; or

6. Power failure, power surges, pligditonngflofdde, ex<xreme weather co
environmental disasters or other causescontsode aGrdecefmiaed by Titan
sole discretion.

This warranty does not cover, and undelr TnitacirSallmstadaeceiabhel for, an
associated with the removal, shippiradlahiooamdbihdher Freammestor the costs ¢
personnel to any site to repair or replaaentiyhes Foahye prolvislewdato the o
purchaser of the Tltan Solar panels msoeuntomg velystent h(d PPrcricdnaser is an
builder who on-supplies the Frame to amei hpearr poya (Eyn dt-oJ slkea).oThis warra
transferable.

Where an End-User wants make a claim under this whaerbimsy,ihlseabcéd-tsret
the installer or builder from whom the Frame was purchased.

This warranty will not apply to any cladhas Bdcterivthde lewplirtcatnos8 of the W
Period. Titan Solar makes no warrantiesherxphasstioe wrapkicerdties made he
specifically disclaim all other waomasn ird ,coedrid semg attd the extent permi
To the extent permitted by law, in nonciSolbanstienlcableifbrTdtiaect, indirect
consequential damages arising from aadgfdanmageoaniajaryfdo persons or
Titan Solar's aggregate liability, ifeawysdn wdimageéesxceetththe invoice v
Frame at the time of purchase from Titan Solar.

Any provision contained in this wareanoy wmeéahloirc gabhdbiit any jurisdict
deemed to be ineffective to the extentuot mfwolk eparliiibytammd ovill not inval
remaining provisions nor affect the validitprowviesnbarcre amiyibyhoefrtjhuarisdict

Published Date 2015-10-20 21 Rewision Number:01



\\\/l, ; Phone:0086-510-866
Tl?ﬁﬁ_ﬂﬁlﬁk | Fax:0086-510-8661

i Web:www.titanergy
JIANGYIN TITANERGY CO.,LTD. ; Mail:info@titanerg

Model NgmMid-ROOF HOOK

11 . Revision History

Table:Revision History

Revision NuRéeweision |[[Ret@son for chjabhgeument Aluthor
01 2015-10-20 Initial Relédasie

Published Date 2015-10-20 22 Revision Number:01



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21

